H & 0l & AHS B Ml A

20258 20l LB MAHRE
SH: Moips
H3: MOIDE AR
ool BYSAME LHARY L HolAS X (crel: g)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
MAE 364,316 393,701 229,385
MOPE A ZHI 296,366 332,541 AN36,175
HYSXHEH HA2SE 2 HoALE X 170,366 206,541 N36,175
FOXXEH 249 102,000 100,645 1,355
201 L2 | 21,500 18,500 3,000
01 At 22|l 21,000 18,000 3,000
O=FCIXIHE SEH| 3,000,000& 3,000
OFPIRRIS AR+
50,0003 x30H ~ 122 18,000
02 E324Hl 500 500 0
OAIZ &= X 500,000 500
301 LEBEF 69,500 69,000 500
11 HARHIRIE S 3,500 3,000 500
OFoNXE A& L SN 28t
100,000 30 3,000
OFUNXEz 1 29 500,000 500
14 JIEt2 43 66,000 66,000 0
OF XXM T2 08 LAt
66,000,000 66,000
405 Xt SHI 11,000 11,000
01 ML =S FSHI 11,000 11,000
OALlAH(2th) = 11,000,000& 11,000
FOIEHOIAlL XA 59,646 60,29% AB50
201 B2 AL| 53,546 53,186 360
01 ArR22ltl 41,046 40,686 360
OFARALIAAE BHZ
290,000& =123 3,480
OLgAIL HEFHUY ==
170,000& 128 2,040
OF=J| & Hldl gx=z2
380,000& =123 4,560
O3J1¥E)| 2=z
55,0002 *3CH*12& 1,980
OFMN &5 E9= 50,0002 12& 600
OFEA A E 22|
30,0002+ 128 360
OHEIIHNMEH =2
135,000&*12& 1,620
Oz ekHEd U=
185,000 x 128 2,220
O8I I|BA==2 130,000& 130
O=&J] & ZHESHI| gXz
2838,000& 123 3,45
ORIQ ME SAH| Xtz
50,0002 122 600




SN MRS
H3: MOIDE AR
Crel: ME=TME ASH L oA XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFA UeI2 B4 89
10,000,000 10,000
OFEAL 0I0IA HEE 3,000,000& 3,000
OZXZAIE FX2cld] 4,000,000 4,000
O&slx 2E2+HE 500,000 500
Osizal U FMBE S 7Y
2,500,000& 2,500
02 S3=gl 12,500 12,500 0
OxgZgs & =X 7,000,000 7,000
O&F A= XIHI 5,500,000& 5,500
203 gF=4| 2,500 2,500
03 A= H 2| 2,500 2,500
OMOI2E EHADAIMZEX
2,500,000& 2,500
401 AIEHIX SO 3,600 0 3,600
01 AlZH| 3,600 0 3,600
Ot &Xxl 3,600,000 *1H 3,600
S ARIEHl SHEf2st 5,600 5,600 0
301 LEtE NS 5,600 5,600
11 AALAHIXIES 5,600 5,600
OAllEH &3 A3E
140,000 ~40& 5,600
MOIE dUXNEXE e 25 X2 3,120 0 3,120
201 er23 | 3,120 0 3,120
01 At2teltl 3,120 0 3,120
OMOtE sWX=AE2s 2E34 g
0,000 26 & *42] 3,120
Scletdas2y 125,650 125,650 0
SclitdEs24X3 125,650 125,650 0
301 EetE NS 125,650 125,650 0
o7 8801 - 32243 125,650 125,650 0
Oosd=4 400,0003 =20+ 122 9,000
OosEYu= 400,000 x20& »23] 16,000
OSH2&dA -
20,0003 x20H*23|x 12 9,600
(@)=ip~-5=la] 50,0002 x81H*13] 4,050
XEE =4 22 =M 350 350 0
2EE =X 29 350 350 0
202 04| 350 350 0
01 =LHOLI 350 350 0
OREH=T A48 01t
350,000 350
HY2ALH(MH2E) 67,950 61,160 6.790
[=ZHI(8H2S) 67,950 61,160 6,790
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